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Assignment 8C: Inverse Trig Functions 

State the range of the inverse function and find the value of the expression on that range.  Support your 

answer by sketching a unit circle and the appropriate angle. 

1. sin−1 (−
1

2
) = −

𝜋

6
 

 

2. cos−1 (
√2

2
) =

𝜋

4
 

 

3. tan−1(−√3) = −
𝜋

3
 

 

Find the following values.  Support your answer with a reference triangle or unit circle drawing. 

4. arctan (cos (
𝜋

3
)) = arctan

1

2
≈ . 𝟒𝟔 𝒓𝒂𝒅𝒊𝒂𝒏𝒔 

 

 

5. tan (sin−1 (
5

6
)) =

𝟓 √𝟏𝟏

𝟏𝟏
 

𝑂𝑝𝑝 = 5, ℎ𝑦𝑝 = 6,  

52 + 𝑏2 = 62 

𝑏 = 5√11 

 

 

6. sin(arctan(𝑥)) =
𝒙

√𝒙𝟐+𝟏
 

(State your answer in terms of 𝑥) 

𝑙𝑒𝑡  𝜃 = arctan(𝑥) 

tan(𝜃) =
𝑥

1
 

𝑜𝑝𝑝 = 𝑥, 𝑎𝑑𝑗 = 1 

𝑥2 + 12 = 𝑐2 

ℎ𝑦𝑝 = 𝑐 = √𝑥2 + 1 

7. csc (tan−1 (
2

𝑥
)) =

√𝟒+𝒙𝟐

𝒙
 

(State your answer in terms of 𝑥) 

𝑙𝑒𝑡  𝜃 = arctan (
2

𝑥
),   tan(𝜃) =

2

𝑥
 

𝑜𝑝𝑝 = 2, 𝑎𝑑𝑗 = 𝑥 

𝑥2 + 22 = 𝑐2 

ℎ𝑦𝑝 = 𝑐 = √𝑥2 + 4 
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𝑥 

𝜃 

100𝑓𝑡. 

8. Matt and Brad are watching a rocket that they shot vertically into the air.  They measure the 

angle of elevation, 𝜃, from where the rocket was launched.  If the launch pad is 100ft. away 

from the boys, write an equation that relates 𝜃 to the shortest distance, 𝑥, from the boys to 

the rocket.   cos 𝜃 =
100

𝑥
 

𝜽(𝒙) = 𝒄𝒐𝒔−𝟏 (
𝟏𝟎𝟎

𝒙
) 


